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O 4AT HEZEAE B2AY
100,000,000 = 0.90/100 900
DAY SAFIE S AH(FUEA) 140,000 0 140,000
401 AIEHI L 201 140,000 0 140,000
01 A& HI 138,992 0 138,992
O JGANE SL4FIHE LB AH(FLEA)
140,000,000 * 99.28/100 138,992
03 A2 2 THHI 1,008 0 1,008
O JEANE S4FIUHE =B A(FLEA)
140,000,000 = 0.72/100 1,008
S ANEFZE WIIX X 3,334 0 3,334
307 21201 A 3,334 0 3,334
02 HAFHAANGFEX 3,334 0 3,334
O E34I0 AIEEE WX X
3,334,000 14 3,334
HASANE =L FZH 62,500 0 62,500
J| 31,250
Al 31,250
401 Al HIZ 2018 62,500 0 62,500
J| 31,250
Al 31,250
01 A& HI 62,500 0 62,500
O HASAE =288 Hl
62,500,000& * 14l 62,500
J| 31,250
Al 31,250




R RPN R =Ny

Ha: MEANY SHGH(AY - SADAUWHK/MSEEE - DEF)
Ee: DHAS MEAE 4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SUANE SFHEAS FHH| 287,500 0 287,500
J| 143,750
Al 143,750
401 AIEHIZL 201 Y| 287,500 0 287,500
Jl 143,750
Al 143,750
01 Al&H| 285,430 0 285,430
O SAANHE &8 A HY|
287,500,000€ * 99.28/100 285,430
J| 143,750
Al 141,680
03 Al&E 201 Y| 2,070 0 2,070
O SLANE 5=dH HH|
287,500,000& * 0.72/100 2,070
MEAE ZEHAIE &X 20,000 0 20,000
401 Al HI L 204 HI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O HMEAE ZHALE A
20,000,000& * 14! 20,000
EZ2AI ZHAIY 20,000 0 20,000
401 Al HI L E0HHI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O E24IF ZYAY 20,000,000 * 14! 20,000
HEAE L AXI AR2HE SHAHIMM 237,891 0 237,891
401 AlEHIZL 201 Y| 237,891 0 237,891
01 Al&H| 236,179 0 236,179
O dEAZ Y AEI AP2HE A A [2021
H EEHNEM HAIZ]
237,891,000 * 99.28/100 236,179
03 Al 20| 1,712 0 1,712
O HEAZ L AFIF AP2vE 3H I A [2021
H EHNEAMN MAEZ]1(0.72%)
1,712,000 = 14! 1,712
HHSHAY(XIGAMY)(IIEH/DIE) 70,328 70,650 N 322
olea 2HH| 18,178 18,960 NT82
oled A | 18,178 18,960 NT82
101 e1214| 18,178 18,960 NT82
03 222 (RIHY) 2222 18,178 18,960 NT82
O A2t 22+¢ 13,163
o <IPAZ(AIRE)
12,3412 x 28 x 20Al2F = 12&€ * 150% 8,886
o <KUL>EZ(AZAHESR)
11,8798 » 1 = 20Al2F = 12&€ * 150% 4.277




AN XSEEH
M HE2IZH (XS ZHD)(IIEH/IIE)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
O s¢22=H 5,015
o LR (NBAHELR)
139,300& » 198 = 362 5,015
JlEZl 52,150 51,690 460
JlE2&l 52,150 51,690 460
201 LBt2d| 41,100 41,100 0
01 At 22l 41,100 41,100 0
O 2it=8H SHAA 19,142,000& * 14 19,142
O =gH %A & 21,958,000& * 14 21,958
202 O4dl 6,850 6,990 A 140
01 = LH 4 bl 6,850 6,990 A 140
O BAN2E SUNHY 5,650,000& * 14 5,650
O ANBAMMER ST 0
20,000& = 1H * 58 » 123 1,200
203 YR =2l 4,200 3,600 600
04 NI 4,200 3,600 600
O NEFMUH (YA 21Y) 350,000& = 123 4,200
Hees(NAZHMA) (&Y - SAINLLUHUX /&Y - 5 4,328 3,079 1,249
AJ| st
RSN 4,328 3,079 1,249
EMdXE 4,328 3,079 1,249
802 BHEt= DI EF 4,328 3,079 1,249
03 JIEtEtEt 3 S 4,328 0 4,328
O NsSAIE =20AH0E 2 DHAME 4,328
o AFE &N 4,023,000& * 14 4,023
o Ol Atete 304,320& = 14 305




